4.10.2019 1. MAKITA SERVICE INFORMATION

Model No.DHP482 CORDLESS HAMMER DRIVER DRILL

2015003
DHPa82

https://msi.makita.co.jp/MsiWW/MsiWW/swi/print.ntml 1/4



4.10.2019r.

Model No.DHP482 CORDLESS HAMMER DRIVER DRILL

MAKITA SERVICE INFORMATION

Homep
ApTukyn Ha OnuvcaHue CmaHa|KonuvmuyecTBO|New/Old|[Tpopagaxb6alllokynkal3abenexka
yacTTa
001 851E32-8 DHP482 NAME PLATE 1
002 183B65-0 HOUSING SET 1
C10 263005-3 WHNOT Tr'YMEH 6 2
D10 INC. 22
003 266429-2 TAPPING SCREW 3X16 9
_ SPEED CHANGE LEVER
004 123442-2 ASSEMBLY 1
_ MPYXWUHA
C10 233438-6 NMPUTUCKALLA 4 2
_ MPEBKJKUYBATETN
005 419041-9 PEBEPCWBEH 1
006 632F27-4  [SWITCH UNIT 1
C10 620444-4 LED CIRCUIT 1
C20 688172-7 LINE FILTER 1
_ -BMHT CNJIOCKA
007 251468-5 FT1ABA M6x22 1
008 766027-7  |KEYLESS DRILL CHUCK 13 1
009 123443-0  |GEAR ASSEMBLY 1
010G 632F32-1  [YOKE UNIT 1
010D 632F32-1 YOKE UNIT 1 *
010E 632F32-1 YOKE UNIT 1 *
010-1C 632J70-7 YOKE UNIT < 1
010-1D 632J70-7 YOKE UNIT < 1
010-1E 632J70-7 YOKE UNIT < 1
010-1F 632J70-7 YOKE UNIT 1
010-1G 632J70-7 YOKE UNIT 1
010-1H 632J70-7 YOKE UNIT 1
010-11 632J70-7 YOKE UNIT 1
010-1J 632J70-7 YOKE UNIT 1
011 619380-9 ARMATURE 1
012 632F21-6 BRUSH HOLDER COMPLETE 1
C10 688172-7 LINE FILTER 1
D10 INC. 13
_ KAPBOHOBA
013 194427-5 UETKA CB-440 1
014 456099-7 REAR COVER 1
015 266429-2 TAPPING SCREW 3X16 2
BUHT C
016C 911006-2 UMNIAMHOPUYHA 1 *
" J1ABA M3x8
BUHT C
016D 911006-2 UUAWMHOPUYHA 1 *
[ JIABA M3x8
BUHT C
016E 911006-2 UNTTUHOPUYHA 1 *
' J1TA B A M3x8
_ _ +PAN HEAD SCREW M3X9
016-1C 652066-2 WITH W < 1
_ _ +PAN HEAD SCREW M3X9
016-1D 652066-2 WITH W < 1
_ _ +PAN HEAD SCREW M3X9
016-1E 652066-2 WITH W < 1
y _ +PAN HEAD SCREW M3X9
016-1F 652066-2 WITH W 1
_ _ +PAN HEAD SCREW M3X9
016-1G 652066-2 WITH W 1
- _ +PAN HEAD SCREW M3X9
016-1H 652066-2 WITH W 1
= _ +PAN HEAD SCREW M3X9
016-11 652066-2 WITH W 1
[ _ +PAN HEAD SCREW M3X9
016-1J 652066-2 WITH W 1
_ TOMNNOOTBEXIOALL
017 689070-8 PAIMATOP 1
_ MPYXUHA
018 232182-2 NTUCTOBA 1
019 644808-8  |TERMINAL 1
020 424476-1 CUSHION 1
022 183B65-0 HOUSING SET 1
Cc10 263005-3 HNOT FrYMEH 6 2
D10 INC. 2
AO1 251314-2 BUHT M4xi2 1
A02C 346317-0 HOOK 1

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/swi/print.ntml

Print Date 4/10/2019

2/4



4.10.2019r.

Model No.DHP482 CORDLESS HAMMER DRIVER DRILL

MAKITA SERVICE INFORMATION

ApTukyn HOHMaep OnuvcaHue CmaHa|KonuvmuyecTBO|New/Old|[Tpopagaxb6alllokynkal3abenexka
yacTTa
A02D 346317-0  |HOOK 1
A02E 346449-3  |HOOK 1
AO2F 346317-0  |HOOK 1
A02G 346317-0  |HOOK 1
AO2H 346317-0  |HOOK 1
A021 346317-0  |HOOK 1
A02J 346317-0  |HOOK 1
AO3 784637-8 |+~ CBP E 1J10 2-45 1
204D 821550-0 ((_)rg(l\Fl)l\éléngOR PLASTIC CASE :
c1o 453974-8  |LATCH 4
AO4E 821550-0 ((_)I_(\)(I\FLI\éI;?TOR PLASTIC CASE :
c10 453974-8  |LATCH 4
AO4F 141856-3 g'aﬁgﬂgT%ARRYING CASE 1
c10 162302-3  |LATCH 2
c20 324207-7 |BAJ 1
€30 451749-9  |HANDLE 1
ADAG 141856-3  [PLASTIC CARRYING CASE 1
c10 162302-3  |LATGH 2
c20 324207-7 |BAJ 1
c30 451749-9  |HANDLE 1
AO4H 141856-3 EﬁJﬂET%ARRYING CASE 1
c10 162302-3  |LATGH 2
c20 324207-7 |BAI 1
c30 451749-9  |HANDLE 1
AO4I 141856-3 E'aﬁgﬂgTCEARRYING CASE 1
c10 162302-3  |LATGH 2
c20 324207-7 |BA 1
€30 451749-9  |HANDLE 1
704 821550-0 grg(l\FI)r\éI;?TOR PLASTIC CASE :
c10 453974-8  |LATCH 4
A05D 450128-8 BATEPUA KANMAK 1
AO5E 450128-8 BATEPUA KAMNAK 1
AO5F 450128-8 |BATEPUA KAMAK 2
A05G 450128-8 BATEPUA KAMAK 1
AO5H 450128-8 BATEPUMA KAMNAK 1
A05J 450128-8 BATEPWA KAMNAK 2
AO6D ##%DC18RC |DC18RC FAST CHARGER 1
AOGE ##%DC18RC |DC18RC FAST CHARGER 1
AOGF ##%DC18RC_|DC18RC FAST CHARGER 1
AO6G ##%DG18RC |DC18RC FAST CHARGER 1
AOGH ##%DC18RC |DC18RC FAST CHARGER 1
A061 ##%DC18RC |DC18RC FAST CHARGER 1
A06J ##%DC18RC |DC18RC FAST CHARGER 1
A07D 197265-4  |BATTERY BL1840B SET 2
AOTE 197254-9  |BATTERY BL1820B SET 2
AOTF 197600-6  |BATTERY BL1830B SET 3
A07J 197280-8  |BATTERY BL1850B SET 3
A0T-1G 197265-4  |BATTERY BL1840B SET 2
AO7-1H 197600-6  |BATTERY BL1830B SET 2
AOT=11 197600-6  |BATTERY BL1830B SET 1
A08D 837916-4  |INNER TRAY 1
AOSE 837863-9  |INNER TRAY 1
AOBF s0sv4z-g |DHPABZRFES PLASTIC CASE : N
708G 3075029 |PHPABZRME PLASTIC CASE ) .
A08J 837916-4  |INNER TRAY 1
A0S F 3167533 |DHPABZRIES PLASTIC CASE X )
A08-1G 816Fa5—2 | DEABZRME PLASTIC GASE X 2

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/swi/print.ntml

Print Date 4/10/2019

3/4



4.10.2019r.

Model No.DHP482 CORDLESS HAMMER DRIVER DRILL

MAKITA SERVICE INFORMATION

ApTukyn HHaOgM;TDa OnuvcaHue CmaHa|KonuvmuyecTBO|New/Old|[Tpopagaxb6alllokynkal3abenexka
A08-1H 3167517 |PHPABZRIE PLASTIC CASE )

AOB1 §17veo-7 |DHPABZRF PLASTIC CASE )

A0SD 8034159 |PHPABZRMJINDICATION ; .
AOSE 803J17-5 | PHP482RAJINDICATION : ,
A09-1D g16F6a-g | DHEASZRMY INDICATION 0 1

A09-1E g16F66-4  |pHEASZRAJINDIGATION 0 1

70914 316F3-4 |PPABZRTOS INDICATION ;

A10D 308J16-7 |PHPABZRIJ PLASTIC CASE ) »
AOE 808J16-3 | 482RAJ PLASTIC CASE 5 ,
A10-1D 816F65-6  [DHPASZRMJ PLASTIC CASE X 2

AO-1E si6Fe72 |PHPABZRAJPLASTIC CASE » )

ATO—14 s16FB42 |DHPABZRTIJ PLASTIC CASE )

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/swi/print.ntml

Print Date 4/10/2019

4/4



